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TYPES
SET[G]

FUNCTIONS

emptyset : SET[G]

has : SET[G] x G — BOOLEAN

count : SET[G] — INTEGER

empty : SET[G] - BOOLEAN

extend : SET[G] x G —» SET[G]

prune : SET[G] x G — SET[G]
intersect : SET[G] x SET[G] — SET[G]
merge : SET[G] x SET[G] — SET[G]
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AXIOMS

Al e empty (s) < count (s) =0

A2 e count (emptyset) =0

A3 e not has (emptyset, x)

A4 e has (s, X) = extend (s, X) = s

A5 e not has (s, x) = count (extend (s, X)) = count (s) + 1
A6 e has (extend (s, X), y) < has (s,y) orx =y

AT e not has (s, X) = prune (s, X) =S

A8 e has (s, x) = count (prune (s, X)) =count (s) — 1

A9 e has (prune (s, X), y) < has (s,y) and x =y

A10 e has (merge(s, t), X) < has (s, x) or has (t, x)

All e has (intersect (s, t), X) < has (s, X) and has (t, x)
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Al12 e merge (extend (s, x), t) = extend (merge (s, t), X)

A13 e has (t, X) = merge (prune (s, X), t) = merge (s, t)

Al4 e not has (t, X) = merge (prune (s, X), t) = prune (merge (s, t), X)
A15 e not has (t, X) = intersect (extend (s, x), t) = intersect (s, t)

A16 e has (t, x) = intersect (extend (s, x), t) = extend (intersect (s, t), x)
Al7 e intersect (prune (s, X), t) = prune (intersect (s, t), X)

A18 e merge (emptyset, s) =S

A19 e intersect (emptyset, s) = emptyset
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